
N = 1213
1213 circles in a circle

radius =   0.026777085141
ratio  =  37.345364319763

density  = 0.869735906110
contacts = 2547

 E.SPECHT
01-MAY-2014

N = 1214
1214 circles in a circle

radius =   0.026757157624
ratio  =  37.373177451814

density  = 0.869157817737
contacts = 2382

 E.SPECHT
02-MAY-2014

N = 1215
1215 circles in a circle

radius =   0.026752826366
ratio  =  37.379228135246

density  = 0.869592168066
contacts = 2845

 E.SPECHT
02-MAY-2014

N = 1216
1216 circles in a circle

radius =   0.026743076055
ratio  =  37.392856301868

density  = 0.869673614140
contacts = 2357

 E.SPECHT
02-MAY-2014

N = 1217
1217 circles in a circle

radius =   0.026735539619
ratio  =  37.403396911682

density  = 0.869898308771
contacts = 2848

 E.SPECHT
02-MAY-2014

N = 1218
1218 circles in a circle

radius =   0.026728481251
ratio  =  37.413274275065

density  = 0.870153462763
contacts = 2237

 E.SPECHT
03-MAY-2014

N = 1219
1219 circles in a circle

radius =   0.026710033541
ratio  =  37.439114349004

density  = 0.869666162045
contacts = 3031

 E.SPECHT
03-MAY-2014

N = 1220
1220 circles in a circle

radius =   0.026705370405
ratio  =  37.445651748300

density  = 0.870075706340
contacts = 2380

 E.SPECHT
03-MAY-2014

N = 1221
1221 circles in a circle

radius =   0.026695386124
ratio  =  37.459656712430

density  = 0.870137884799
contacts = 2813

 E.SPECHT
04-MAY-2014

N = 1222
1222 circles in a circle

radius =   0.026685964420
ratio  =  37.472882158994

density  = 0.870235931748
contacts = 2679

 E.SPECHT
04-MAY-2014

N = 1223
1223 circles in a circle

radius =   0.026679930589
ratio  =  37.481356882351

density  = 0.870554265489
contacts = 2333

 E.SPECHT
04-MAY-2014

N = 1224
1224 circles in a circle

radius =   0.026671112725
ratio  =  37.493748772467

density  = 0.870690262895
contacts = 2947

 E.SPECHT
05-MAY-2014


